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At the toy shop

The toy shop stocks tricycles and go-carts.
The tricycles have 3 wheels.
The go-carts have 5 wheels.

Suna counted the wheels.
He counted 37 altogether.

How many tricycles are there?
How many go-carts?

Find two ways to do it.
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Year 2 Spring 1 Maths Activity Mat 5

Scction 1 Section 2 Scction 3 Section 4
Write three numbers Use the signs > < to show the | 18 is seven more | Draw one line of
greater than 40, using most and least amount. than which number? symmetry.
the numbers on the cards.
39 [:] 57

ElE [ ]
L] D[ o | =——

Section 5 Section 6 Section 7 Section 8
Emma invited What time is shown Complete the sequence:
14 people to her on the clock?
birthday party. 12 13+ D =22
people came. How 52, 54, 56:[:],[:].[:]
many people weren't E -9=12
able to come?
- 4 x D -8
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Scction 1 Section 2 Scction 3 Section 4

Write three numbers Use the signs > < to show the | | 32 is 14 less than Draw one line of
greater than 60, using most and least amount. which number? symmetry.

the numbers on the cards.

‘ ‘ 89 [:] 82

£1.45>15p[:] £1.20 D
€ 01—

‘ ’ ‘ 74 [:] 51+24
Section 5 Section 6 Section 7 Section 8

Elias invited 32
people to his
birthday party. 29
people came. How
many people weren't

able to come? m

What time is shown
on the clock?

Complete the sequence:

o300

30»D=12
D+13=40
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Year 2 Spring 1 Maths Activity Mat 5

Scction 1 Section 2 Scction 3 Section 4
Write three numbers Use the signs > < to show the | | 54 is 16 more than | | Draw three lines of
less than 40, using the most and least amount. which number? symmetry.
numbers on the cards. .

24 + 52 E] 59+11

5 8 ’ 9 2 £1.45+£1.36D £2.80 [:]
Do) e | —

Section 5 Section 6 Section 7 Section 8
Philip invited What time is shown Complete the sequence:
35 people to his on the clock? S
birthday party. 27 *+19=51
people came. How 50, 47, "‘h[:],[:].[:]
many people weren't L J° 26=25
able to come?
m [ ————4 8O+D -8
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* Use your place value skills to put the beads in the correct place.
* Use all 5 beads each time.

1) What is the largest 2 digit number you can make?
2) What is the smallest 2 digit number you can make?
3) Make a number between 21 and 25.

4) Write down all the numbers you can make between 20 and 50.

5) Make a number as close to 30 as you can.
6) Which of these numbers can you make using all 5 beads? Tick them

21 32 41 24 14 5 33
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Odd one out

1L

2. Now do this one.

Here is a grid of 16 squares.
One square is different from all the others.
Mark it on the grid.
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Monster

Alesha bought a monster using only silver coins.
It cost her 45p.

There are nine dif ferent ways to pay 45p exactly
using only silver coins.

Find as many as you can.

What if the monster cost 50p?
How many different ways are there to pay now?





